-3
e e I ) e 0
-4- (-1 T T W
3 i 2+
S LA T R Wit 305
T -3 % v 3
E) 2
<3 , y_f-2)\Y z
)632-7-3-(34::_4-2)4-49-2 _ lat?')z.:" ‘(3 [24)(?2)
1(3+3+1)_-1\323 “}1. 35- ?1_
63=3-% o 23 -5
4az o P S I R
3.\‘5»1:'} T 3 1 - 33.-‘-'3
33
AvL= A 3 ey 15 -9 3P
_____t 1% 3.,45 - 3 _-} - —

o -5 ~ (—‘l)
b) (z) '(f) ]

OO
?“‘\T:m J (1) (5)40 (E’)/ (-Z)?:Ho—(-g

)E?ae gcon\* P B

Y 0oyl c
™ \ ,“:::o; & &?n:c sranaded
Qo offo w0

. 5) .3 -—-(%)4:(?)40

'5

d) V5 + V45 + /180 — v’_::\r-“'isll';‘\' 315 JZ“B—
a./

?.\I‘f.(.ts
- ﬁ.\. 1,45 + 1 W5- 2 REE
ﬁ.\-'b ri" G:r Y \r. Gr
- ‘}-;q-\-*(:‘:( th( BK.

€S e Y
5\\\\’-}"



